= A
A & O & A B Ml M
201749 20a e Al
SH: BAEMY
HMa: BMALBL M
Sl AYTA FA (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
2AFARY 2,971,021 9,459,171 26,488,150
l 192,826
< 309,973
Al 2,468,222
saAZ2e] HA =E 2,496,423 2,344,270 162,153
Jl 192,826
< 309,973
Al 1,993,624
AL A =& 97,740 104,240 26,500
ADZAl =& 67,740 23,240 44,500
201 2Bt Yl 34,540 22,540 12,000
01 AtR 22l | 32,540 20,540 12,000
OEHA0MUX & 2= ¢¥
2,000 *3,500% *13] 7,000
OFA AZHEdd & NFE2HAZ &9
3o FA+E 70,0008 11 %23 1,540
OHstel=AB T AIE2 3 A3l
2,000,000& *13 2,000
OB AIAY =& 20,000
—HZEAl S2& FItHl 5,000,000 13 5,000
—E2AM8 g0 Eottial JHA
15,000,000& 15,000
OEYEE & QtB LIS At A2 FH| 2,000
— Aol 900& =1, 0004 900
— g 324 900& =1, 0004 900
—dXmE 200& =1, 0004 200
03 &A= S HI 2,000 2,000 0
OEA9 & At 2,000,000& 12| 2,000
203 PR E= Y| 700 700 0
03 Al =T P2 F Y| 700 700 0
OALTAIANY B2 700,000 700
405 At&tF SHI 32,500 0 32,500
01 & =ESFHSH 32,500 0 32,500
Oodzg 22 UAS0I(DID)EX
4,500,000 «1CH 4,500
OZetll P 28,000,000 = 1CH 28,000
SA= A28 0tE 30,000 31,000 A 1,000
307 glztol & 30,000 31,000 A 1,000
04 QIZHHAALE 2 = 30,000 31,000 A 1,000
OS A= AZet0td & A8l 30,000,000 =13l 30,000
ALT2IY 29 1,937,892 1,916,910 20,982
Jl 172,876
S 308,173
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SH: BAEMY
HMa: BMALBL M
Ser HLT2I 2 (ol &9)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,456,843
IZZUALSEEH XA 847,151 794,113 53,038
J| 117,876
< 100,195
Al 629,080
307 glz2tol & 843,451 794,113 49,338
J| 117,876
< 100,195
Al 625,380
05 RIZHRI & 3 843,451 794,113 49,338
OJI=ZuALSHEH K& 843,451,000 843,451
J| 117,876
< 100,195
Al 625,380
405 TtHakF S| 3,700 0 3,700
01 AL EFH S 3,700 0 3,700
OZBAUHLBSIHE WA Wty P2
3,700,000 = 1CH 3,700
OtsEAd FAUBAAY 50,000 50,000 0
J| 25,000
Al 25,000
307 21201 A 50,000 50,000 0
J| 25,000
Al 25,000
05 RIZt2IE = 50,000 50,000 0
O0ts3aYdE HABHAMY 50,000,000& 50,000
J| 25,000
Al 25,000
HAZER A2 EHANE 2 630,581 670,537 A39,956
< 63,058
Al 567,523
307 21201 A 630,581 670,537 A39,956
< 63,058
Al 567,523
03 QIZtHNHE2HEHEX 630,581 0 630,581
OFAMAER ASIE2HAE 29
630,581,000 630,581
< 63,058
Al 567,523
AR D ASFAHAMNE BML S=222Y 18,600 18,600 0
< 1,860
Al 16,740
307 21201 A 18,600 18,600 0
< 1,860
Al 16,740
03 QIZtHNHE2HHEX 18,600 0 18,600
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2AM: BAF M
M HaA2ze A EE
el AATR Y S (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFARYL U AMIASHAE SAXY S22
g 18,600, 000& 18,600
= 1,860
Al 16,740
JAZER A SAHAE SsBZH 2,000 2,000 0
< 2,000
307 gl2tol & 2,000 2,000 0
< 2,000
02 IZtEHAHE L 2,000 2,000 0
OBMTSX AEI=AHNE ZSHTY
2,000,000 2,000
< 2,000
JAZER A SRAE SAL HLME K& 8,400 0 8,400
< 8,400
307 21201 A 8,400 0 8,400
< 8,400
03 BIZIHHEE2FHIEX 8,400 0 8,400
OFZMAEEI ASISXAESAR HR2HME X
2 8,400,000 8,400
< 8,400
MAANZEZZHME MG OIS HY X 105,000 105,000 0
< 31,500
Al 73,500
307 21201 A 105,000 105,000 0
< 31,500
Al 73,500
05 BIZHRIE 3 105,000 105,000 0
OMSAY Z2ME Mol x|
105,000, 000& 105,000
= 31,500
Al 73,500
NAAESK 2 I S gl 12,200 12,200 0
< 3,660
Al 8,540
307 21201 A 12,200 12,200 0
< 3,660
Al 8,540
05 QI & 3 12,200 12,200 0
OXNMAEXR & IIE S N2XA
12,200,000& 12,200
< 3,660
Al 8,540
Aaoed 2 HAALSIAY 60,000 60,000 0
| 30,000
Al 30,000
307 21201 A 60,000 60,000 0
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SH: BAEMY
HMa: BMALBL M
& E XA (&9
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OB2dA HEY WRAAE F=H 33,000
—H/W 2 9,800,000& 9,800
—S/W 7 23,200,000& 23,200
OSlEa =8HUIIANAE 2 2,761,000 2,761
PNRS: DY =R =i E=DNE -] 6,000 2,000 4,000
J| 4,200
< 1,800
201 Let24E] 6,000 2,000 4,000
J| 4,200
< 1,800
01 At 22/l 6,000 2,000 4,000
OXgMHtAZ & 6,000,000& 6,000
J| 4,200
< 1,800
dHAM= & SESHX LSHXE 24,000 8,000 16,000
J| 12,000
Al 12,000
201 ¢4 24,000 8,000 16,000
J| 12,000
Al 12,000
01 At 2t 2l 24,000 8,000 16,000
OdHAMs § S=SHA wIH XS
24,000,000 24,000
J| 12,000
Al 12,000
OtM B of okt A z2te| 25,000 5,000 20,000
201 ¢er24| 3,000 0 3,000
01 At 22/l 3,000 0 3,000
OA=EEENZns g8 & 237Ul
3,000,000& =13l 3,000
301 gt d= 22,000 5,000 17,000
1MIIEBESS 22,000 5,000 17,000
OA=S2EE L s 2TAHl  100,000& *703] 7,000
O394a) Ba3a &8 1,000,000& 154 15,000
AsAEEAI 22X 7,500 0 7,500
J| 3,750
Al 3,750
405 TtHabH S| 7,500 0 7,500
J| 3,750
Al 3,750
01 At ESFH S 7,500 0 7,500
OsaEEAI 7Y 7,500,000& 7,500
J| 3,750
Al 3,750
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SH BATHY
Ha: maATRl WA
oSl FHA Y XpEae (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFAIES S| 220,000 *63] 1,320
OMa=Z&HA S9H| 500,000& *23| 1,000
OsdJotdAI e S| 100,000& = 12& 1,200
ORoMTGZH 44| 264,000& x12& 3,168
odlgsg =2 4 X224
25,000 x6CH x12& 1,800
OFAN A Y AMESE P2AbI
1,200,000& x12& 14,400
OFAZ2] JIH, AlE =2 225 2
150,000& = 12& 1,800
O0IJ Al MEf==2 202 300,000& 43| 1,200
02 33294l 182,850 165, 142 27,708
03322 % MA 103,239
—&IIAES 2 6,900,000 x12& 82,800
—SAIJIAAEZ 250,000& x12& 3,000
—& -0l MEZ 1,202,000& x12& 14,424
—NERLEES 3,015,000& x13] 3,015
OHEwA&2 L AMEHH R 46,611
— A= R XYl 3,000& x5,537m* 16,611
— A& &Hl s Xl 30,000,000& 30,000
OHE . ey 2,750,000& = 12& 33,000
401 Al HI L £ 0HHI 55,000 22,000 33,000
01 A& HI 55,000 22,000 33,000
OFA SJ17 LED WH (KBS, 48)
25,000,000 25,000
O1& st&4 el2da ZAt 30,000,000& 30,000
405 XtakF S| 1,452 4,390 N 2,938
01 AL 2B F SHI 1,452 4,390 N 2,938
OFAN EX=ZAIA 7L 352,000 =14 352
OMS&Il 2¢ 550,000& *=2CH 1,100
Terzel 17,600 15,800 1,800
201 LEt2HY| 17,600 15,800 1,800
02 53294l 17,600 15,800 1,800
O Xt = Xl dl 17,600
— &S X Sl 150, 000& *3CH x12& 5,400
— SEx sl 300,000& x2CH x12& 7,200
- 3322 5,000,000& 5,000
Y2 P (BAY DY) 474,598 268,901 205,697
ol 2| 369,531 185,498 184,033
ol 340,432 158,649 181,783
101 2124 1| 340,432 158,649 181,783
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SH BATHY
M. HMSAAH (BEAH M)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 2 301,121 139,482 161,639
OxW22¢ 301,121
— 62 10,682& *19YH *x28A| 2t +12& 68,194
73 9,649& x29Y «28A| 2+ x 128 94,020
— 82 8,663 *32H x28 Al 2tx 12 93,145
- 93 7,8302 « 102 +28 Al 2H+ 122 26,309
- gxN3e N2
9,649% x2H x3A| 2Hx20 2 x 12& 13,895
—oZXNA N2
9,649 x3H *4 Al 2t x4 2 %128 5,558
02 JIEt& E % 39,311 19,167 20,144
O2A INERE =2 2Y
12,5253 *7H *28A| 2+ x 128 29,459
OBAZE zN224Y
L7733 x3H x28A| 2+ x12& 9,852
DIAARE ALY o1& S HH]| 29,099 26,849 2,250
101 @121l 29,099 26,849 2,250
03 2IAHAZZ2XHE %= 29,099 26,849 2,250
OoIAALE X 22X 0l AHH| 26,461
—-JlE2= 1,668, 110@x 15 x12& 20,018
— HHZ A 130,000 x 1H «12& 1,560
— X222 11,9703 x 1H »15A| 2+ =12 2,155
— A 30,000& *x1H x12& 360
— @E FItHI 1,668, 110& x50%* 1 23] 1,669
— G AMH| 63,8403 *1H x10 639
— XM=& AtHI 60,000& *14 60
OLIFHEREX 222 HE = 2,638
= 26,461,000& *45/1,000 1,191
—2A2AEE 26,461,000 x30.6/1,000 810
— Lo RAEE 810,000& *65.5/1,000 54
- 18828 26,461,000 *15/1,000 397
—MHEE 26,461,000 *7/1,000 186
Jl2Z bl 105,067 83,403 21,664
Jl23Hl 105,067 83,403 21,664
201 et A | 50,063 44,783 5,280
01 AFR2t2l Yl 45,840 40,560 5,280
OFAM2III23H| 30,240
— 2t FH| 40,0003 28 x12& 13,440
— 22| 50,0003 x28H = 12& 16,800
ogaze=x4g 60,000& x2H 120 14,400
ONAEH A2F 100,000& = 12& 1,200
02 332494l 4,223 4,223 0
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SH BATHY
M HER2GFU(BA T )
Sel: ol EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OfERZ 4,223
—gdpreH 300& 7,000 2,100
-3« 1,930& *1,100AH 2,123
202 oddl 38,880 30,240 8,640
01 = LH o4 1l 38,880 30,240 8,640
OgRF&II20HI 120,000& »27H «12& 38,880
203 YR =2t 10,990 8,380 2,610
0122 PR =8| 2,640 3,300 A 660
OJI228 S =2l 2,640,000 2,640
02 FRIIAH =X 4,150 880 3,270
OISR F= &Y
(40,0009 * 1002 )+(30,000& x5 ) 4,150
04 NI 4,200 4,200 0
EA2EHRFEY 350,000& 122 4,200
405 TtHobF S| 5,134 0 5,134
01 AL EFH S 5,134 0 5,134
OME& 37| 3,428,410 «10H 3,429
OBHA L4 AMNEITH 7L 1,705
— A 1,100, 000& = 1CH 1,100
— A3 TH 605,000 = 1CH 605
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